a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
N

J..ul_' r r
| SEETECTRRE 11T
-15 =10 - -

|
(¢)]
oF

5 10 15 20
Vertex z (cm)

Ja¥a¥a) [mYaYaYaYaYa¥a

G(0 X) (um)

Ratio

10

1.UD!

.
LEL L
i

10 15 20
Vertex z (cm)

nren

50 5

a(0 x) tor merged vertices (um)

Ratio

10 15 20

10%

10

Ll AR TN
L 111111

0.05L H i i : :

=20 -15 -10 5 10 15 20

-5 0

Vertex z (cm)

10

e 1A AN T T
fotot L TE .
20 =15 =10 :

-5 0

5 10 15 20
Vertex z (cm)

Ratio

0(0 z) (M)

Ratio

atoy) umy | LLELL
q117)
[eseed)
Sanar)
raaaad
T

S

$oooiees

s
TTTT T
i

At
[ITTTETTEY

50 &5

10 15 20
Vertex z (cm)

05 =15=10

2

10°[

10 15 20
Vertex z (cm)

=
o
N

Vertex z (cm)

N Ll [ +
AN SR 431 LR 4 EEE T
: : "' b : :
05 =15-10 -5 0 5 10 15 20

0 5
Vertex z (cm)



	Contents
	Page 1


